Synergia2 - Bug # 76: usage of z_period_length in generate_matched_bunch is not correct

Status: Resolved Priority: Normal
Author: James Amundson Category:
Created: 10/17/2011 Assigned to: Alexandru Macridin
Updated: 10/17/2011 Due date:
Subject: usage of z_period_length in generate_matched_bunch is not correct
Description: the code contains:

z_period_length =None

if z_period_length == None:

that can't be correct

History

10/17/2011 04:56 PM - Alexandru Macridin

- Status changed from New to Resolved
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